Math 210 - Dr. Miller - Exam #1, Version A, Fall 2016 - Thursday, Sept. 29, 2016

This exam is worth 100 points. Follow instructions carefully to receive full credit.
A-l-“ 1. [4 pts] Briefly describe the difference between inductive and deductive reasoning. {0 cenr-
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4. [12 pts] Find the total 561 + 570 + 579 + 588 + --- + 4215. Show work, but you
need not explain. ( 5
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5. [3 pts] Write precisely how to read “{32} ¢ N” out loud. Y
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'w‘" 6 [4 pts/ Tommy's mom took him to the opening night of the new Harry Potter movie, and O:_.JU-M
\ 9’} surprisingly, it wasn’t sold out. Refer to the characteristics of one-to-one correspondence F _’o ¢ ovt

to explain how Tommy can tell that there are more seats than people at the theater.
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7. [8 pts - 4 eachf For each problem below, list two problem solving strategies that could
reasonably be tried in solving it. Justify each claim, telling why you would choose that
S_strategy, but do not actually solve.

@ G*’ (a) The salad bar has 8 different sliced veggies on it today. How many different com-
binations of one, some, or all of them could you put on a salad? ﬂ"‘g_'q_'
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8. (a) [{ pts] If possible make up sets C and D containing three elements apiece so that

n+¢ ed n{CUD) =7 If not possible, explain why.
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¢ © ‘1:.9 For this ENTIRE PROBLEM, let the universal set be U = {31,32,33,...,38}, and let
. A= [32,34,36,38), B = {z | = < 32}, C = (31,35,38}, and D = {32,33,34,37,38}.

(a) {3 pts| Rewrite A using correct set-builder notation.
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(b} [2 pts| How many subsets does C have altogether?
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(¢} [4 pts - 1 eachf ldentify each statement as true or false. You need not explain, but
write clearly to receive full credit.
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10. Consider the following Venn diagram:
__Senior Citizen ARC Members

Not Retired

Qver Age 70

II
I1I

VI

VII
VIII

Women

a) [3 pts/ Describe as fully as possible the people who are in Region II.
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@ "}J (b) [2 pts/ List all possible regions where you could put 68-year-old women who aren’t

o
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(¢) /2 pts] Into which region(s) could you put retired women? List all possible.
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11. /3 pts| An Attribute Game has the following seven labels ONLY: red, green, large, small,
triangle, square, hexagon. There is a large green triangle in the left-hand crescent and
a large red triangle in the right-hand crescent. What are the possible labels for the two

circles, and which is which?
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12. (a) [10 pts] The word arithmetic puzzle below represents a 3-digit number added to
another 3-digit number and producing a 4-digit answer. Each letter represents one

of the digits O through 5 or@, 7s, 8s, or 9s). Find the value of each letter.

Show clear work, and briefly{ explair} your reasoning.
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(b) /2 pts/ Clearly state Polya's Four Steps, in order.
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Math 210 - Dr. Miller - Exam #1, Version B, Fall 2016 - Thursday, Sept. 29, 2016

This exam is worth 100 points. Follow instructions carefully to receive full credit.

de) 1. [4 pts] Briefly describe the difference between equal and equivalent sets. +s
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a) Its second term is 18 and its difference sequence is x10, -1, x20, -1, x30, -1, .. ..
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reasoning involved.
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4. [12 pts] Find the total 561 + 570 + 579 + 588 + ... + 4233. Show work, but you
- aw_ need not explain. 3
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o\‘:ﬁ‘“’“ 5. [3 pts] Write how to read “B = {z | z < 32}” out loud. L
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6. [4 pts/ Tommy’s mom took him to the opening night of the new Harry Potter movie, and
o X surprisingly, it wasn’t sold out. Refer to the characteristics of one-to-one correspondence
to explain how Tommy can tell that there are more seats than people at the theater.
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7. [8 pts - 4 each] For each problem below, list two problem solving strategies that could
reasonably be tried in solving it. Justify each claim, telling why you would choose that
strategy, but do not actually solve.

o 5= (a) How many different ways are there to express 101 as a sum of three even numbers

X< . and one odd number? 5
@:Qf\j’;%:‘; “Melee & Juot - 10 S aerL i e
D ook for o petiae — el mEy B AT

) el rraoenrd — DO Aoy o OPQ""‘ e

O, & Uer e PG T PO ey ane invetod.
\\\r\o‘fc“%\ (b) Amara found a bag of pennies at home. She gave one fifth of them to the local

@ 31\1,\*{-, charity, then gave 60 pennies to her Girl Scouts. When she was done, she still had
+ 120 pennies in the bag. How many were there to start with?
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8 (a) [4 pts/ If possible make up sets C and D containing three elements apiece so that ‘{S
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9. For this ENTIRE PROBLEM, let the universal set be U = {31,32,33,...,38}, and let
A=1{32,34,36,38}, B={z |z <32}, C={31,35,38}, and D = {32,33,34,37,38}.

Y (a) [3 pts/ Rewrite A using correct set-builder notation.
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10. Consider the following Venn diagram:
Senior Citizen ARC Members

Not Retired
Under Age 70
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@ }.‘9“ ) (a) [3 pts/ Describe as fully as possible the people who are in Region II. (ot
el A ARC ™

@ 9_0’)’) (b) /2 pts/ List all possible regions where you could put 75-year-old men who aren’t
M retired. W

(c) [2 pts/ Into which region(s) could you put retired women? List all possible.
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11. /3 pts/ An Attribute Game has the following seven labels ONLY: red, green, large, small,
triangle, square, hexagon. There is a large green triangle in the left-hand crescent and
a large red triangle in the center lens. What are the possible labels for the two circles,
and which is which?
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12. (a) {10 pts] How many times is the symbol 2 written if you write down all of the
counting numbers from 500 through 10007 Show clear work, and briefly explain
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(b) {2 pts| Who came up with the Four Steps studied in this course (spell correctly),
and what are they used for?



